SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| don0at
MATHEMATICS / 7Tfor

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfHaq 3id : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.
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1 1

If x> = 49 then x is equal to :

(A) 49 (B) 2 ) 12
1 1

afs 20 =49 R A xwARE:

(A) 49 (B) 2 Q) 12

Zero of the polynomial p (x) where p (x) = ax,a=0is:

®1 B a © o ©) -
a

TR P (x) = ax a0 FMIIFH e

® 1 (B a © o ©) -
a

If (x —3) is a factor of x3—3x2 +kx —12, then value of k is :
(A) -3 (B) 3 © 0 (D) 4
Az (x — 3) 7gHe 43 — 3x2 +ky — 12 F T PrREE E, Ak F AR

(A) -3 (B) 3 ©) 0 (D) 4

Select the correct statement from the following :

(A) Degree of a zero polynomial is O

(B) Degree of a zero polynomial is not defined

(C) Degree of a constant polynomial is not defined
(D) Zero of the zero polynomial is not defined
frefafed sl § 9 981 e g0 |

(A) I IEIR I A YA B

(B) ¥ 9gUS I =G URefo TE |

(C) 3TeR gug ! =1 R et ¥ 1
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(D) <= 9gHR 1 Y TG e 7|

‘Lines are parallel if they do not intersect’ is stated in the form of :
(A) an axiom (B) a definition

(C) apostulate (D) a proof

@ e FHITR Hear & afe o TF ge &l Thiess 1 H¢ | 78 fom

wUH HUTE, /R :
(A) U= e (B) = wRtwmm
(C) s sfyquron (D) s suata

If AB=QR, BC=PR and CA =PQ then :
(A) AABCzAPQR (B) ACBA=APRQ
(C) ABAC=ARPQ (D) APQR=ABCA
aft AB=QR, BC=PR st CA=PQ#, -
(A) AABC=~APQR (B) ACBA=~APRQ

(C) ABAC=ARPQ (D) APQR=~~ABCA

Q is a point on side SR of APSR as shown in the figure below such

that PQ=PR. Show that PS > PQ.

P

S Q R

APSR = 9= SR W feerd fig Q =1g 36 woh @ fo PQ=PR &, s o6

aTeRfa ® guitan T ¥ g9z fR PS > PQ #1
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10.

11.

12,

The sides of a triangular plot are in the ratio 4 : 5 : 6 and its perimeter is 150 cm. Then
the sides are

(A) 4cm,5cm, 6cm (B) 40cm, 50 cm, 60 cm
(C) 8cm,10cm, 12 cm (D) 120cm, 150 cm, 180 cm

Teh TR e i oMd 4 : 5 : 6 F Fqud H § 7R 39t gfimm 150 .. 7, o syeneti =6t |19 St -

(A) 43,53, 63 (B) 40 ¥, 50 9., 60 &5
(C) 8=+, 109, 12 9.9 (D) 120 |.91,, 150 9.9, 180 9.4
Section-B

Question numbers 9 to 14 carry two marks each.

x2—

If x =3 —242, then find the value of

=
N|’—‘
S~——

ae x =3 - 242 E‘l,?ﬂ[xz — iz] 1 HF F1d I

X

Factorise : 27p3— —— — 2p2+ 1p.

actorise P T P 1 p

. 1 9 1
ToTRETE A : 27pS — —— — —p2+ -
P 216 Zp 4p

Evaluate (101)3, using a suitable identity.

IR AR W w0 gy, (101)3 & = e

In the figure given below, if PS=RQ then prove that PR =5Q.
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13.

14.

/Q
R S

P
amepfd #, afe PS=RQ 7, i fag sifsg f PR = SQ.

)ﬁ
!
n
@)

In the figure below, ABCD is a square and P is the midpoint of AD. BP and CP
are joined. Prove that ~PCB= «PBC.

A B
P
D c

fr=1 emRfa 8, ABCD tws ot € 9en P, o1 AD &1 wex fag &1 BP qen CP =i faemn 7= ® fag
aifse fe ~PCB= ~/PBC %1

A B
P
D c

OR
Let OA, OB, OC and OD be the rays in the anticlockwise direction starting from

OA, such that ~/AOB= ~COD =100°, ~/AOD= ,BOC=80° 1Is it true that
AOC and BOD are straight lines. Justify your answer by drawing the figure.

fer OA, OB, OC d=1 OD; OA § 39 &t aMed g § 36 FHR o6 6 8 fF
/AOB= ,COD =100°dzr ~AOD= ,BOC=80°%I =1 7® 94 ? f& AOC qen
BOD e @ €1 3Tehfa a1 Y ST S e ol FedTaT hifeTd |

Locate and write the co-ordinates of a point :
(A) above x-axis lying on y-axis at a distance of 5 units from origin.

(B) below x-axis lying on y-axis at a distance of 3 units from origin.
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15.

16.

17.

(C) lying on x-axis to the right of origin at a distance of 5 units.
(D) lying on x-axis to the left of origin at a distance of 2 units.
M T s fargett & fdene fafea

A) x - Fd ¥ FR YA foig ¥ 5 Theh 1 g W Y- 18 W |

B) x-31&1 ¥ = & @ -8 W qA foig 9 3 wehe gl |

C) x-z1e T fooyq qeAferg @ a9 | 5 ek W

(
(
(
(D) x—sie T oo getferg @ it o 2 7 G

Section-C

Question numbers 15 to 24 carry three marks each.

If x = g and , 2 p <7 then find the value of the rational number p.
X

afg x \Faﬁig—pf%ﬁa‘fvﬁﬁaWpaﬁrnﬂaﬁaﬂﬁm

OR
If 5¥ —3 32x =8 =225 then find the value of x.
afz 5% —3.32% — 8 = 225 F 7t x %1 = T F

Find p and q, if ? =p+qv3 .

i f —p+qy3 & p @i q A T

Factorise : 343p3 - 64q3 - 125p3q6 - 420p2q3.

ToREvE FAT: 343p0 — 6493 — 125p3q0 — 420p23.

OR

The polynomials kx3 +3x2 — 8 and 3x3 — 5x+ k are divided by x+ 2. If the remainder in

each case is the same, find the value of k.

afe x + 2 & agTat kx3 + 3x2 — 8 o 3x3 — 5x 4 k F fasiG F W THAF I W@ B & 79 k

1 HE 1 IS |
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18 1fa24+b2+c2=90anda+b+c= 20, then find the value of ab + bc + ca.

afcaZ+b2+c2=90qma+b+c=20 4, @ ab -+ bc + ca 1 77 9 FifTw |

19. In the figure given below, if AB||CD, ‘P’ is the mid-point of BD, prove that P is
also the mid-point of AC.

D C

A B

= & emfa #, afs AB||CD & qen BD &1 #ea fig ‘P’ 2, @ fos #ifsw i P tamde AC &1 +ft 7
fag 1

OR
ABC, /B=45°, £C=>55°and bisector of ZA meets BC at a point D.

Find ZADB and ZADC.

AABC#, /B=45°, #C=>55°au A &1 gafgursies BC &1 D ® faeai 81 ZADB iR
£ ADC 3 sifS

20. In figure, if AB||DC, ~BDC=30°and ~BAD=80° find /x, Zyand /z.

D

Y
0

A

aT%fd #, AB||DC 2 @em ~BDC =30° 3R /BAD=80°%1 £X, £y 3R £z% AH I ST
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21.  AABC s an isosceles triangle with AB=AC, D and E are the points on BC such
that BE=CD. Prove that AABD = AACE.

A

B D E C

s gafgerg st ABC# AB=AC aanfsg D aanE, BC wsa wRr € ff BE=CD. fag
witse fof AABD = AACE.

A

22.  In the figure given below, if PQJ||RS and ZPXM =50° and ZMYS=120°, find the

value of x.
i X Q,
50°
(x—20°) (M
120°
= Y2
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= empfa #, afs PQ||RS @en LPXM = 50° @en ZMYS =120° %, i x 1 711 I &It |

ML X Q9
50°
x—20°) (M
120°
:I'{ Y s- >

23.  In the given figure, find the value of x.

< T TR H, x T TH T HI
A
o
D x
A 50\ ¢

24.  Anisosceles triangle has perimeter 30 cm and each of the equal sides is

12 cm. Find area of the triangle.

e gufgarg et &1 it 30 At qon Ydsh THM ol S ders 12 A 71 S 1 SRt 7 i |

Section-D
Question numbers 25 to 34 carry four marks each.

25. ) .. . 25 . ) .
Evaluate after rationalizing the denominator (—_,_j . It is being given that

J5 =2.236 and \/10 = 3.162

awvﬁﬁzﬁwmm( jaﬁrmmﬁﬁmﬁmgaﬂ%ﬁfzz.zammﬁzs.mz

25
V40 - /80

OR
Express 1.32 +0.35 as a fraction in simplest form.

1.32 + 0.35 = Terqq fiel & w9 ¥ fafay

Page 9 of 12



26.

27.

28.

29.

30.

7+3J5 7-3
- =a+ «5b
+ 5 3— 5 a+ 5

Find the valuesof aand b if :

74305 7-35 _
v 5 5T =a+ /5b § dladab & A4 @ ST

Find the value of 8a3 — 27b3 +90ab + 125 if 2a =3b — 5.

8a3 — 27b3 + 90ab + 125 =1 WH A FHifsT 4% 20 = 3b — 5.

Factorise : 2y3 + y2 —2y—1

g Ff . 2y3 +y2 -2y —1

Without actually calculating the cubes, find the value of :

() (=12)3+(7)3+(5)3

A1 1 aTfaeh 9Rehed fore fomn, f=fafad =1 am 3 sifs
(i) (—123+(7)3+(5)3

OR

The polynomials p(x)= ax3+4x2+3x—4 and q(x)=x3—4x+a leave the same

remainder when divided by x —3. Find the remainder when p(x) is divided by

(x—2).

g p(x) = axd +4x2 +3x —4 = q(x) =13 —4x+a F x—3 F 9 I W FTAA IHA S

T 1 AR A RIS 5T p(x) F(x — 2) F w7 fezn s

If the co-ordinates of a point M are (—2, 9) which can also be expressed as

(1+x, yz) and y>0, then find in which quadrant do the following points lie :

P,x), Q@2x), RGEZy-1), S(@x-3y).

afe fag M (=2, 9) 1 (1 +2, y2), y>0 & zwien <1 =k , @ 7@ Ffr o Freafafa fomg o

Tqafe # feer 27 2

P(y,x), Q@2x), RE%y-1),  S(2x-3y
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31. In given figure, the bisectors of ZABC and #BCA of AABC

intersect each other at point O. Prove that ~BOC=90°+ % :
A
B <
& ¢ ampfa #, AABC &% £ ABC 3k /BCA % wafgumsies fog O W Teh gH 1 Hiaese &id 2|
fig e s BOC =907+ 22
A
B C

32. Prove that the two triangles are congruent if any two angles and the included side of
one triangle is equal to any two angles and the included side of the other triangle.

fag wifse for 1 Be gafmaw 2 § afs T e & *E < 1o IR St STaia oo g& s & fonet
31 197 3R SAHT ST ST o HAM & |

33. Inright AABC in given figure, right angled at C, M is the midpoint
of hypotenuse AB, C is joined to M and produced to a point D such

that DM = CM. Point D is joined to point B. Show that

(i) AAMC=ABMD (i) «DBCis aright angle
D A
M
B IC
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34.

3t e smepfa # wek "R st ABC # fwert svior C wwam 1 M
#0t AB &1 wem-faig 81 C &t M & fieme D ae 39 YR sg™ T ©
s DM =CM %1 fiig D @1 farg B @ firen feen & <urien fok -

(i) AAMC=ABMD

(i) «DBC wwEwEm )

D A

In figure below, two isosceles triangles ABC and DBC have a common base BC.
Prove that the line joining their vertices is the perpendicular bisector of the base.

A

\n/

D

amepfa #, T & emarR BC W < "ofgeng f3st ABC @en DBC feua €1 fag wifey o g o forgait
! eI dTelt @1 STER 1 Tel TAfGHST © |

\n/
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